
Inventory Control



• The prime objective of Inventory control
to keep down the investment on the
inventory and to maintain the stock at
optimum level to ensure that the stocks
are made available to the consumer with

Objectives :

are made available to the consumer with
least interruptions. इɋŐटरी िनयंũण का मुƥ 
उȞेʴ इɋŐटŌ ी पर िनवेश को कम रखना और ːॉक 
को इʼतम ˑर पर बनाए रखना है तािक यह 
सुिनिʮत िकया जा सके िक उपभोƅा को कम से 
कम Ŝकावट के साथ ːॉक उपलɩ कराया जा 
सके।



• It is a value of all 
types of stores which 
are kept in stock or 
in transit for which 
the payments have 
been made. यह उन 
सभी Ůकार की मदो ंसभी Ůकार की मदो ं
का मूʞ है जो ːॉक 
मŐ या पारगमन मŐ रखी 
गई हœ िजनके िलए 
भुगतान िकया गया है।



• It is the process of
maintaining stock at
optimum level to meet
consumer demands
with minimum
Inventory Costs. यह 
Ɋूनतम इɋŐटरी लागत Ɋूनतम इɋŐटरी लागत 
के साथ उपभोƅा की 
मांगो ं को पूरा करने के 
िलए ːॉक को इʼतम 
ˑर पर बनाए रखने की 
ŮिŢया है।



Related Terms :
 Stock Items: The Items which are regularly required by

different consignee of Indian railways. वे वˑुएँ िजनकी 
भारतीय रेलवे के िविभɄ कंसाइनरो ंको िनयिमत ŝप से आवʴकता 
होती है।

Non stock Items: The items which are having no regular
consumption pattern and they are not stocked in the
stocking depots. वे वˑुएँ िजनका कोई िनयिमत उपभोग पैटनŊ stocking depots. वे वˑुएँ िजनका कोई िनयिमत उपभोग पैटनŊ 
उपलɩ नही ंहै और िजɎŐ ːॉिकंग िडपो मŐ ːॉक नही ंिकया जाता है।

 Inactive Items: Items which have not been consumed for
the last 12 months or more. ऐसी वˑुएं िजनका िपछले 12 
महीने या उससे अिधक समय से उपभोग नही ंिकया गया हो।

 Surplus Items: The items which have not been consumed
for the last 24 months or more. वे वˑुएँ िजनका िपछले 24 
माह या उससे अिधक समय से उपभोग नही ंिकया गया हो।



Related Terms :
Over Stocks: For “A” Category items if the value of

stocks is beyond 06 months consumptions. For “B”
Category items if the value of stocks is beyond 12
months consumptions and for “C” category items if
the value of stocks is beyond 24 months
consumptions. "ए" ŵेणी की वˑुओ ंके िलए यिद ːॉक का 
मूʞ 06 महीने की खपत से अिधक है। "बी" ŵेणी की वˑुओ ंके मूʞ 06 महीने की खपत से अिधक है। "बी" ŵेणी की वˑुओ ंके 
िलए यिद ːॉक का मूʞ 12 महीने की खपत से अिधक है और 
"सी" ŵेणी की वˑुओ ंके िलए यिद ːॉक का मूʞ 24 महीने की 
खपत से अिधक है।

Service levels: The numbers of demands compiled
with divided by total numbers of demand received.
It is a efficiency indicator. संकिलत मांगो ंकी संƥा को 
Ůाɑ मांग की कुल संƥा से िवभािजत िकया जाता है। यह एक 
दƗता सूचक है ।



Related Terms :
Turn Over ratio: Total available inventory at

the end of financial year divided by total
issues made during that financial year. It is
also a efficiency indicator. िवȅीय वषŊ के अंत मŐ कुल 
उपलɩ इɋŐटŌ ी को उस िवȅीय वषŊ के दौरान जारी िकए गए 
कुल मूʞो ंसे िवभािजत िकया जाता है। यह एक दƗता सूचक कुल मूʞो ंसे िवभािजत िकया जाता है। यह एक दƗता सूचक 
भी है.

 Lead time: This is the time required from the
date of need of an item is felt to the item is
physically received in the depot. यह िकसी वˑु की 
आवʴकता महसूस होने से लेकर िडपो मŐ भौितक ŝप से उस 
वˑु क़े Ůाɑ  होने तक का समय है।



Need For Keeping Inventory :
• It is told that lesser the inventory the better but it is

required to be kept: ऐसा कहा जाता है िक इɋŐटरी िजतनी कम हो 
उतना अǅा है लेिकन इसे रखना आवʴक है Ɛोिंक: 

• Due to lead time involved and also to reduce the
possibility of stock outs as stock out costs can be
enormous. इसमŐ मदो ंकी Ůİɑ मŐ लगने वाले समय के कारण और 
ːॉक ख़ȏ होने की संभावना भी कम हो जाती है Ɛोिंक ːॉक ख़ȏ होने ːॉक ख़ȏ होने की संभावना भी कम हो जाती है Ɛोिंक ːॉक ख़ȏ होने 
की लागत बŠत अिधक हो सकती है।

• To maintain stock to meet customers demands. Ťाहको ंकी 
माँगो ंको पूरा करने के िलए ːॉक बनाए रखना।

• To ensure continuity of production and distribution. 
उȋादन एवं िवतरण की िनरंतरता सुिनिʮत करना।

• To maintain the targeted Service levels. लिƗत सेवा ˑरो ं
को बनाए रखना।



Graph between Inventory Cost and 
Service level



Disadvantage of keeping large Inventory:

• Followings are the cost of keeping large Inventories: 
 Blockage of capital. पंूजी मŐ Ŝकावट ।
 Interest on the money locked up. बंद धन पर ɯाज ।
Opportunity cost, which is very high. अवसर लागत, 
जो बŠत अिधक है ।जो बŠत अिधक है ।

 Supervision cost. पयŊवेƗण लागत ।
Obsolescence and deterioration cost. अŮचलन और 
िगरावट की लागत ।

  Pilferage and other losses. चोरी और अɊ हािनयाँ ।



Types Of Inventories :
• Inventory can be classified according to its usage and 

its point of entry into operations इɋŐटरी को उसके 
उपयोग और उसके संचालन मŐ Ůवेश के िबंदु के अनुसार वगŎकृत 
िकया जा सकता है

 Raw materials,
Work in progress,Work in progress,
 Finished Goods,
 Tools,
 Consumable items,
 Spares. 
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Care in Stocking of new items:
• Due to heavy administrative cost such as

ordering cost and inventory carrying costs,
decision for stocking new items should be
taken only when the materials will have
regular demand or is required to be stocked asregular demand or is required to be stocked as
emergency stores. ऑडŊर लागत और इɋŐटŌ ी ले जाने 
की लागत जैसी भारी Ůशासिनक लागत के कारण, नई 
वˑुओ ंको ːॉक करने का िनणŊय केवल तभी िलया जाना 
चािहए जब सामŤी की िनयिमत मांग होगी या 
आपातकालीन ːोर के ŝप मŐ ːॉक करने की 
आवʴकता होगी।



Proper care in forecasting of annual demands:
• In the recoupment, it was seen that the net quantity for

procurement is calculated based on anticipated annual
consumption. The net quantity to be procured is very much
depend on the consumption forecast for the relevant period. 
खरीद मŐ, यह देखा गया िक खरीद के िलए शुȠ माũा की गणना अनुमािनत 
वािषŊक खपत के आधार पर की जाती है। खरीदी जाने वाली शुȠ माũा काफी 
हद तक संबंिधत अविध के िलए उपभोग पूवाŊनुमान पर िनभŊर करती है।

• Though it is difficult to predict the future consumption accurately,
statistical techniques are available for forecasting with a fair level
of accuracy. हालांिक भिवˈ की खपत का सटीक अनुमान लगाना मुİʭल 
है, लेिकन उिचत ˑर की सटीकता के साथ पूवाŊनुमान लगाने के िलए 
सांİƥकीय तकनीकŐ  उपलɩ हœ।

• In Indian Railways we use the last three year average
consumption for this method. भारतीय रेलवे मŐ हम इस पȠित के िलए 
िपछले तीन साल की औसत खपत का उपयोग करते हœ।



Adoption of appropriate recoupment 
policies:

• The different recoupment policies is issued time to
time by Railway Board to ensure availability of
materials in accordance with the demand pattern
confirming to the desired service level fixed for the
specific item. िविशʼ वˑु के िलए िनधाŊįरत वांिछत सेवा specific item. िविशʼ वˑु के िलए िनधाŊįरत वांिछत सेवा 
ˑर की पुिʼ करने वाले मांग पैटनŊ के अनुसार सामिŤयो ंकी 
उपलɩता सुिनिʮत करने के िलए रेलवे बोडŊ Ȫारा समय-
समय पर िविभɄ खरीद नीितयां जारी की जाती हœ।



Selective Management:
• According to the principal of management of “italian economist

and sociologist Vilferedo Federico Pareto of 80:20 rule” in a
group of items only a few are significant. So we are take more
care on these few items. "इतालवी अथŊशा˓ी और समाजशा˓ी 
िवलफेरेडो फेडेįरको पेरेटो के 80:20 िनयम के Ůबंधन िसȠांत" के 
अनुसार वˑुओ ंके समूह मŐ केवल कुछ ही महȕपूणŊ हœ। इसिलए हम 
इन कुछ चीजो ंपर Ǜादा ȯान रखते हœ।

• Following are the important selective techniques to
control the Inventory: इɋŐटरी को िनयंिũत करने के िलए 
महȕपूणŊ चयनाȏक तकनीकŐ  िनɻिलİखत हœ:

• ABC Analysis,
• VED Analysis,
• FSN Analysis.



ABC Analysis:
• In this techniques all stock items are classified into

three categories in the order of their annual
consumption values. इस तकनीक मŐ सभी ːॉक वˑुओ ं
को उनके वािषŊक उपभोग मूʞो ं के Ţम मŐ तीन ŵेिणयो ंमŐ 
वगŎकृत िकया गया है

 ‘A’ Category: Items which added together form 70% of
the annual consumption value of all stock items putthe annual consumption value of all stock items put
together, but in terms of numbers may form only 10%
or less of the total number of stock items.
वˑुएँ क़े वािषŊक खपत मूʞ को एक साथ जोड़ने क़े उपरांत 
वे सभी ːॉक वˑुओ ं के वािषŊक उपभोग मूʞ का 70% 
बनती हœ, लेिकन संƥा के संदभŊ मŐ ːॉक वˑुओ ंकी कुल 
संƥा का केवल 10% या उससे कम हो सकती हœ।



ABC Analysis:
 ‘B’ Category: Items whose annual consumption value

forms 20% of all stock items, but in terms of numbers
may form only 20% of the total number of stock items. 
वे वˑुएँ िजनका वािषŊक उपभोग मूʞ सभी ːॉक वˑुओ ं
का 20% है, लेिकन संƥा के संदभŊ मŐ ːॉक वˑुओ ंकी 
कुल संƥा का केवल 20% हो सकता है।कुल संƥा का केवल हो सकता है।

 ‘C’ Category: All balance stock items being in large
number about 70% will form only 10% of total value.
सभी शेष ːॉक आइटम बड़ी संƥा मŐ लगभग 70% होने के 
कारण कुल मूʞ का केवल 10% बनŐगे।



‘A’ category items:
• Small in numbers, but consumes large amounts of 

resources.
Must have
 Rigid control.
 Rigid estimate of requirement.
 Strict and closer watch.
Managed by top management.Managed by top management.
‘B’ category items:
Must have
Moderate control.
 Purchase based on rigid requirement.
 Reasonably strict watch & control.
Manage by middle level management.



‘C’ category items:
• Large in numbers but consumes lesser amount of 

resources.
Must have
 Ordinary control
 Purchase based on usage estimate
 High safety stock
 Manage by lower level management. Manage by lower level management.

From the above, for achieving better result in inventory
control, the management can take lot of efforts by tightly
controlling only ‘A&B’ category items in the matters of
forecasting, procurements, stocking and issuing, leaving the
‘C’ category items to operating level.
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VED Analysis: 
• In this techniques all stock items are classified as V-

Vital, E-Essential, and D-desirable on the basis of
service level.

 Vital: Those items which will stop the operation if not
available. वे वˑुएँ िजनके उपलɩ नही ंहोने पर पįरचालन बंद हो 
जाएगा।जाएगा।

 Essential: Those items which have a potential to stop
operation in the near future. वे वˑुएं िजनके उपलɩ नही ंहोने 
पर िनकट भिवˈ मŐ संचालन बंद होने की संभावना है।

Desirable: Rest items are classified as desirable.
This classification enable management to attention

on just a few items where the maintenance of high
service level would be necessary.



FSN Analysis:
• In this techniques all stock items are classified 

as F-Fast moving items, S-Slow moving items 
and N-Non moving items.

• While making recoupment, the nature of item
is kept in view so that unnecessary money isis kept in view so that unnecessary money is
not blocked in slow and non-moving items. 
खरीद करते समय वˑु की Ůकृित को ȯान मŐ रखा जाता है तािक 
धीमी एवं गितहीन वˑुओ ंमŐ अनावʴक धन अवŜȠ न हो।



Management by exception:
• This is an important technique made easy by

computerisation.
• In this method the management tries to review only

those items which display certain properties at a
particular point of time such as items having less than
three months stocks, items of nil stocks, items belowthree months stocks, items of nil stocks, items below
dangerous level, safety items below 03 months stocks,
items having more than 12 months stocks etc.

• If management satisfy with the condition of exception
chosen, would get reflected in the statement, thereby
restricting the need and efforts to take corrective action
only where due.



Management by exception:
• यह क̱ɗूटरीकरण Ȫारा आसान बनाई गई एक 
महȕपूणŊ तकनीक है।

• इस पȠित मŐ Ůबंधन केवल उन वˑुओ ंकी समीƗा 
करने का Ůयास करता है जो िकसी िवशेष समय पर 
कुछ गुण ŮदिशŊत करते हœ जैसे िक तीन महीने से कम 
ːॉक वाली वˑुएं, शूɊ ːॉक वाली वˑुएं, खतरनाक 
ˑर से नीचे वाली वˑुएं, 03 महीने के ːॉक से नीचे ˑर से नीचे वाली वˑुएं, 03 महीने के ːॉक से नीचे 
की सुरƗा वˑुएं, ऐसी वˑुएं िजनमŐ ːॉक होता है। 12 
महीने से अिधक का ːॉक आिद।

• यिद Ůबंधन चुनी गई अपवाद की शतŊ से संतुʼ है, तो 
यह कथन मŐ Ůितिबंिबत होगा, िजससे केवल जहां 
आवʴक हो वहां सुधाराȏक कारŊवाई करने की 
आवʴकता और Ůयास सीिमत हो जाएंगे।



Standardisation & Variety reduction:
• The process of adopting uniform and widely used Indian/International

specification for stock items is termed as Standardisation.
• Procurement of items of standard specification is therefore expected to

result in lower prices, causing corresponding reduction on the inventory
carrying cost which is dependent on the price of items.

• The materials covered under Indian/International standard are easily
available in the market, at prices much cheaper than the one tailor-made to
a customer’s specification/drawing.a customer’s specification/drawing.

• ːॉक वˑुओ ं के िलए एक समान और ʩापक ŝप से उपयोग िकए जाने वाले 
भारतीय/अंत

• इसिलए मानक िविशʼताओ ंकी वˑुओ ंकी खरीद से कीमतŐ कम होने की उʃीद 
है, िजससे इɋŐटŌ ी ले जाने की लागत मŐ कमी आएगी जो वˑुओ ंकी कीमत पर िनभŊर 
है।राŊ Ō̓ ीय िविनदőश को अपनाने की ŮिŢया को मानकीकरण कहा जाता है।

• भारतीय/अंतराŊ Ō̓ ीय मानक के अंतगŊत आने वाली सामिŤयां Ťाहक की 
िविशʼताओ/ंडŌ ाइंग के अनुसार तैयार की गई सामिŤयो ंकी तुलना मŐ बŠत सˑी 
कीमतो ंपर बाजार मŐ आसानी से उपलɩ हœ।



Standardisation & Variety reduction:
• Lesser number of inventory items are to better planning and

more accurate forecasting. The result in better inventory
control and a better inventory turnover ratio.

• Reduction in number of items result in less inventory holding
and therefore less inventory carrying cost.

• Due to merging of items, quantities are procured in bulk,
deliveries are quicker and lead time to lowered, inventory
holding can be further reduced.holding can be further reduced.

• इɋŐटŌ ी आइटम की कम संƥा बेहतर योजना और अिधक सटीक 
पूवाŊनुमान के िलए है। पįरणामˢŝप बेहतर इɋŐटŌ ी िनयंũण और 
बेहतर इɋŐटŌ ी टनŊओवर अनुपात Ůाɑ होता है।

• वˑुओ ंकी संƥा मŐ कमी के पįरणामˢŝप इɋŐटŌ ी कम होती है 
और इसिलए इɋŐटŌ ी ले जाने की लागत कम होती है।

• वˑुओ ंके िवलय के कारण, माũाएँ थोक मŐ खरीदी जाती हœ, िडलीवरी 
जʗी होती है और लीड समय कम हो जाता है, इɋŐटŌ ी होİʒंग को 
और कम िकया जा सकता है।



Disposal of Over stocks:
• Items having more than 06 months stocks for “A” category item,

more than 12 months stocks for “B” category items and more than 24
months for “C” category items is considered as overstocks.

• As there is a cost associated with possession of materials known as
inventory carrying cost, it becomes necessary to dispose the over
stock items. It is necessary to control the stock levels as per
requirements.requirements.

• Care should be also taken in stocking of shelf life items, the stock
should not be more than the life limit.

• Overstocks generally a result due to fall in consumption of materials
procured based on inflated demands.

• This leads to the importance of making as accurate as possible the
estimate or forecast of the material requirements.



Disposal of Over stocks:
• "ए" ŵेणी की वˑुओ ंके िलए 06 महीने से अिधक का ːॉक, "बी" 
ŵेणी की वˑुओ ं के िलए 12 महीने से अिधक का ːॉक और 
"सी" ŵेणी की वˑुओ ं के िलए 24 महीने से अिधक का ːॉक 
ओवरːॉक माना जाता है।

• चँूिक सामिŤयो ंके कɥे से जुड़ी एक लागत होती है िजसे इɋŐटŌ ी 
ले जाने की लागत के ŝप मŐ जाना जाता है, इसिलए ːॉक से 
अिधक वˑुओ ं का िनपटान करना आवʴक हो जाता है। 
आवʴकतानुसार ːॉक ˑर को िनयंिũत करना आवʴक है।आवʴकतानुसार ːॉक ˑर को िनयंिũत करना आवʴक है।

• शेʚ लाइफ वाली वˑुओ ं के भंडारण मŐ भी सावधानी बरतनी 
चािहए, ːॉक जीवन सीमा से अिधक नही ंहोना चािहए।

• आम तौर पर बढ़ी Šई मांग के आधार पर खरीदी गई सामिŤयो ं
की खपत मŐ िगरावट के कारण ओवरːॉक होता है।

• इससे सामŤी आवʴकताओ ंका अनुमान या पूवाŊनुमान यथासंभव 
सटीक बनाने का महȕ बढ़ जाता है।



Surplus Review:
• In Railway an item not demanded by the consumers for a

period of 24 months or more at a time is categorised as
Surplus Stores.

• It is divided in two sub-categories:
• Movable Surplus: Items not demanded for 24 months, and

likely to be used in the next 24 months.likely to be used in the next 24 months.
• Dead Surplus: Items not demanded for 24 months and not

expected to be used in next 24 months. These are
ultimately categorised as Scrap.

it is not wise to keep the surplus stores in stock
for a long time. Surplus stores are constantly monitored to
see whether such materials can be put of alternate use or
not. If not they are scrapped and thereafter disposed.



Surplus Review:
• रेलवे मŐ एक समय मŐ 24 महीने या उससे अिधक की अविध 
के िलए उपभोƅाओ ंȪारा मांग नही ंकी गई वˑु को सरɘस 
ːोर के ŝप मŐ वगŎकृत िकया गया है।इसे दो उप-ŵेिणयो ंमŐ 
िवभािजत िकया गया है:

• चल अिधशेष: 24 महीनो ंतक मांग नही ंकी गई वˑुएं, और 
अगले 24 महीनो ंमŐ उपयोग िकए जाने की संभावना है।

• डेड सरɘस: ऐसी वˑुएं िजनकी 24 महीनो ंतक मांग नही ं
की गई और अगले 24 महीनो ं मŐ उपयोग िकए जाने की 
डेड सरɘस ऐसी वˑुएं िजनकी महीनों तक मांग नही ं
की गई और अगले 24 महीनो ं मŐ उपयोग िकए जाने की 
उʃीद नही ं है। इɎŐ अंततः  ˌैप के ŝप मŐ वगŎकृत िकया 
गया है।
   अितįरƅ भंडार को लंबे समय तक ːॉक मŐ रखना बुİȠमानी नही ं
है। यह देखने के िलए िक Ɛा ऐसी सामिŤयो ं को वैकİʙक 
उपयोग मŐ लाया जा सकता है या नही,ं अिधशेष भंडारो ं की 
लगातार िनगरानी की जाती है। यिद नही,ं तो उɎŐ हटा िदया जाता 
है और उसके बाद उनका िनपटान कर िदया जाता है।



Scrap Disposal:
• On the Railway, materials which are no longer required for the purpose for

which they are procured are termed as ‘Scrap”.
• This will include all obsolete materials and all types of waste generated

during the course of production, operation and maintenance of the Railway
assets. It also include unwanted packing materials.

• Examples of Scrap are the turning and borings generated in workshops,
condemned rails, rusty, worn-out and damaged components released from
carriage & wagons workshops, condemned machinery and plant and rollingcarriage & wagons workshops, condemned machinery and plant and rolling
stocks.

• Unsold scrap is a source of unnecessary liability of inventory carrying cost
and therefore Railways have taken up disposal of scrap as a major activity
over the last 20 to 25 years.

• Total value of scrap sold every year is now more than 4000 Crore.
• In 2021-22 total scrap sold is approx Rs. 5316 Crore (SECR 266 crore). In

2022-23 Rs.5757 crore (SECR 304 Crore), In 2023-24 Rs. 5773 Crore (SECR
254 Crore).



Scrap Disposal:
• रेलवे मŐ, िजन सामिŤयो ंको अब उस उȞेʴ के िलए आवʴक नही ं है 
िजसके िलए उɎŐ खरीदा जाता है उɎŐ 'ˌैप' कहा जाता है।

• इसमŐ रेलवे पįरसंपिȅयो ं के उȋादन, संचालन और रखरखाव के दौरान 
उȋɄ सभी अŮचिलत सामŤी और सभी Ůकार के अपिशʼ शािमल होगें। 
इसमŐ अवांिछत पैिकंग सामŤी भी शािमल है।

• ˌैप के उदाहरण कायŊशालाओ ं मŐ उȋɄ होने वाली टिनōग और बोįरंग, 
ख़राब रेल, कैįरज और वैगन कायŊशालाओ ं से िनकले जंग लगे, िघसे-िपटे 
और ƗितŤˑ घटक, ख़राब हो चुकी मशीनरी और ɘांट और रोिलंग ːॉक 
हœ।हœ।

• िबना िबके ˌैप इɋŐटरी ले जाने की लागत की अनावʴक देनदारी का एक 
ŷोत है और इसिलए रेलवे ने िपछले 20 से 25 वषŘ मŐ ˌैप के िनपटान को 
एक Ůमुख गितिविध के ŝप मŐ िलया है।

• हर साल बेचे जाने वाले ˌैप का कुल मूʞ अब 4000 करोड़ से अिधक है।
• 2021-22 मŐ कुल ˌैप लगभग Ŝ. 4200 करोड़ (एसईसीआर 210 करोड़ 
के लƙ के मुकाबले 266 करोड़)। 2022-23 के िलए लƙ 4400 करोड़ 
Ŝपये (एसईसीआर 265 करोड़) है।



Importance of Inventory control:
• It helps to achieve customer satisfaction.
• It ensure cash flow.
• It ensure better warehouse space utilization
• It helps better human resources utilization.
• It helps to segregate best importance/ running/ useful items and

poor importance/ running/ useful items. Increase stock level ofpoor importance/ running/ useful items. Increase stock level of
best importance items and decrease poor importance items.

• यह Ťाहको ंकी संतुिʼ Ůाɑ करने मŐ मदद करता है।
• यह नकदी Ůवाह सुिनिʮत करता है।
• यह बेहतर गोदाम ˕ान उपयोग सुिनिʮत करता है । 
• यह मानव संसाधन के बेहतर उपयोग मŐ मदद करता है।
• यह सवŖȅम महȕ/चलने/उपयोगी वˑुओ ंऔर खराब महȕ/चलने/उपयोगी 
वˑुओ ंको अलग करने मŐ मदद करता है। सवŖȅम महȕ वाली वˑुओ ंका 
ːॉक ˑर बढ़ाएँ और कम महȕ वाली वˑुओ ंका ːॉक ˑर घटाएँ।



Conclusion :
• By better inventory control, we can

minimise the blockage of financial
resources in procurement and
warehousing of the materials. We can
achieve the main objective of inventory
control at minimum cost. 
achieve the main objective of inventory
control at minimum cost. 

• बेहतर इɋŐटŌ ी िनयंũण Ȫारा, हम सामिŤयो ं
की खरीद और भंडारण मŐ िवȅीय संसाधनो ं
की Ŝकावट को कम कर सकते हœ। हम 
Ɋूनतम लागत पर इɋŐटŌ ी िनयंũण का मुƥ 
उȞेʴ Ůाɑ कर सकते हœ।
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Q1. Which is not related to Inventory control:
A. ABC
B. VED
C. FSNC. FSN
D. EAR 
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Q2. To fix the optimum service level, which
analysis is useful:

A. FSN analysis
B. ABC analysisB. ABC analysis
C. XYZ analysis
D. VED analysis
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Question

Q3. Efficiency of inventory management system 
is generally measured by:

A. Service level 
B. Inventory turn over ratioB. Inventory turn over ratio
C. 1&2
D. None of above
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Question
Q4. The formula for T.O.R. is:

A. TOR=Balance (Closing)/Issue*100
B. TOR=Receipt (Total)/Issue*100B. TOR=Receipt (Total)/Issue*100
C. TOR=Issue(Total)/Balance *100 
D. TOR= Issue (Total)/Balance *100
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Question
Q5. Extra inventory kept on hand to cater for
default by the suppliers and also to take care of
fluctuations in demand is known as:

A. Emergency stock
B. Buffer stock
C. Ordinary store
D. Custody stock
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Question
Q6. Opening balance of stock in a stores depot
on 1st April 2023 was Rs 30 crores. During the
year 2023-2024, material worth Rs. 90 crores
was received and total value of issues during the
year was 100 crores. Calculate TOR during the
financial year 2023-2024.financial year 2023-2024.
A. 20%
B. 30%
C. 33%
D. 90%
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Question
Q7. Items of stores which have not been issued for
a period of 24 months, but which, it is anticipated,
will be used in the near future are called.

A. Moveable surplusA. Moveable surplus
B. Dead surplus
C. Overstock
D. Inactive
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